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1. +, Question Details SCalca 3.6.001. [3354053]

Produce graphs of f that reveal all the important aspects of the curve. Then use calculus to find the following. (Enter your
answers using interval notation. Round your answers to two decimal places.)
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2. + Question Details SCalcs 3.6.004. [3354046]

Produce graphs of f that reveal all the important aspects of the curve. Then use calculus to find the following. (Enter your
answers using interval notation. Round your answers to two decimal places.)
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2.+ Question Details SCalcB 3.6.004. [3354046]

Produce graphs of f that reveal all the important aspects of the curve. Then use calculus to find the following. (Enter your
answers using interval notation. Round your answers to two decimal places.)
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3. + Question Details SCalcd 3.6.009.MI1. [3353743]

Produce graphs of f that reveal all the important aspects of the curve. Then use calculus to find the intervals of increase
and decrease and the intervals of concavity. (Enter your answers in interval notation. Do not round your answers.)
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4. + Question Details SCalc8 3.6.011. [3353748]

Sketch the graph by hand using asymptotes and intercepts, but not derivatives. Then use your sketch as a guide to
producing graphs {with a graphing device) that display the major features of the curve. Use these graphs to estimate the
maximum and minimum values. (Round your answers to three decimal places.)
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5.+ Question Details

SCalc8 3.6.012. [3354026]
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Sketch the graph by hand using asymptotes and intercepts, but not derivatives. Then use your sketch as a guide to
producing graphs (with a graphing device) that display the major features of the curve. Use these graphs to estimate the
maximum and minimum values. (Round your answers to three decimal places.)
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6.+ Question Details SCalc8 3.6.015. [3353652]

Use a computer algebra system to graph f and to find f' and f". Use graphs of these derivatives to find the following. (Enter|
your answers using interval notation. Round your answers to two decimal places.)
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The intervals where the function is increasing.

7.  + Question Details SCalcd 3.6.016. [3354002]

Use a computer algebra system to graph f and to find ' and f". Use graphs of these derivatives to find the following. (Entq|
your answers using interval notation. Round your answers to two decimal places.)
x2/3
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8. + Question Details 5Calcs 3.6.017. [3353994

Use a computer algebra system to graph f and to find ' and f". Use graphs of these derivatives to find the following.
flx) =vVx+5sin(x) x=20

9.  + Question Details SCalcsd 3.6.020. [3354063]

Describe how the graph of f varies as ¢ varies. On your own, graph several members of the family to illustrate the trends
that you discover. In particular, you should investigate how maximum and minimum points and inflection points move when g
changes. You should also identify any transitional values of ¢ at which the basic shape of the curve changes.
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10.

+ Question Details

SCalc8 3.6.502.XF [3389921]

Find a positive number such that the sum of the number and its reciprocal is as small as possible.
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